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t B 3 4 S 6 7 hd 4 0 B 12 3 14 135 16 17 [ 1%
flenoroposckie 16 3 49.0 - - - 10¢ 3K 03 0.8 1 20 24 300 je camirapie | Kopenesa rydsa el SELANO
P I { 3 K
Acnorapoachre i I 200 - - - T0C 3K 02 0.7 | 20 4 230 e Py OUHHA Kopenena rydxa 22 MATCPILTTR
slenoropoacxe 21 13 4.4 - - - 103 6 (1,80 | 22 24 370 3 sioIproke | Bunpanns 21 ARCHITOPA RV B RS
SICHOIOpOACHKE 2 14 143 - - - 10C A} 07 i} 19 22 240 e - T BCHXAHNR 2 HE BUABICHO
SICHOrOpOACHKe A I8 HIR] - - 10C 02 [BRN 1 I8 24 280 3¢ - aepes 25 -
Slenoropoact ke 2 22 10.2 - 10Cy 62 0.7 1 21 26 zon Je - E 24 -
ACHOTOPOAC RS 4 218 - - 10C 60 G.7 i 19 24 260 3¢ - B 22 B
Slenoropoachke 25 ¥ 29 - - - HOCs 54 0.74 l 20 24 RIS 3e 2. 2. 20 B
Slcnoropoachke 23 9 12,6 - - - 10Cw+CO 63 .70 ! 22 26 320 e - Kopenesa rydxa 2 -
Henorapogeske 26 10 ) - - - HOC 3+ b s (.80 t 24 3 420 3e - Buamipatns 23 -
Henoropoac ke 26 12 1.0 - - 10C3+C6 39 a8 1l 19 22 300 3e “. T3 BUMXIHHA 20 -
%
Henaropoacske 2% 7 3 - - - HOTOS] 3N 08 i 19 26 311 3 - aepes 2 Eas
Hcnoropoicre 3t 12 30 - - - H0C 3 bn 6 a7 f 2 28 3400 e - -7 24 -
SCHOrOpOAT ke 3 14 14 - - 16003 36 1.8C i 21 26 344 e =T = 20 B
Scnoropoacine 3 5 4.5 - - - 10C 0 0.6 t 24 26 37 4e - B 2 -
SleHoropoichre 32 5} 12.0 - - 8C32 3+ 61 0,70 1l 18 26 230 de - 2 B
Slenoropoacke 32 14 1.7 - - - 10C 79 0.6 i 21 28 260 Ae - - 24 e
Acnorapoacuse 32 16 4.7 - - - T2 s bt Oc &l 0.7 ! 20 26 230 4e - - 20 2.
AcHoropoachxe 39 Yy 3.3 - 10C3 N bR 1 18 24 260 Ze - <. 2z B
Henoropoachke 42 3 4.4 - W3 bser - s 76 07 ! 25 3 380 2e - - 2 B
Senoropoactke 43 e} 4.5 1O Hoy (L8 i 20 24 326 Je - BN 22 -
Sleroropoacre 30 3 30 - - 9O b 62 (.70 | 23 28 3o 2 - - --
Heroropoactke & 4 32 by o7 it A 27 32 40 3¢ .- B B
Henoropoacuke St b RN - - HOC+bn 47 (.80 ! 8 24 284 3¢ RS B P




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
SlcHoroposichke 52 3 204 10C3x+bn 64 0,80 Il 20 24 320 3e caHiTapHe | Kopenesa rytxa 24 3riAHO
ScHoroposicbke 52 6 24 10C3+bn 40 0.70 1 11 20 110 3e pyOaHHs Biamupanus 23 marepiainis
SlcHoroponceke 52 8 1.2 10C3 64 0.80 1l 17 22 230 3e Bubipkose | TaBcuxanns 20 JICBIOPSAKY BaHH$
SlcHoropojicbke 53 6 0.3 10C3 75 0,60 I 25 36 320 2e e JepeB 20 HE BUSIBACHO
SlcHoropoachke 53 8 37 10C3 44 0,40 [ 18 24 140 2e S - 25 -
ScHoroponckke 53 9 7.0 10C3x 44 0,85 I 18 24 290 2e - Kopetiesa rybxa 20 Bt
ScHoropoacske 53 22 0,9 10C3 52 0,90 A 21 24 380 2e = Biamupanus 22 =
SlcHoropoacebke 54 4 0.8 10C3 61 0,80 I 20 26 330 3e B Ta BCHXaAHHA 22 -
Slcnoropoackke 54 S 1.6 10C3 66 0,70 | 24 32 370 3e = JIEpEB 25 -t
ScHoropoacske 58 20 1.4 10C3 61 0,80 1 19 26 300 3e = - 20 -
SlcHoropoacbke 58 24 14,3 9C3lbn 55 0,80 I 19 24 280 3e “ - 22 Bt
Slcnoropoacske 60 21 4.8 10C3+bn 51 0,80 I 18 24 280 3 Bt = 20 B
StcHoropoacbke 60 22 1,3 10C3 48 0,70 I 16 20 200 3 Bt - 24 -

PyaHsaHCbke 8 1 0,2 10C3+/A3+bn 86 0,6 I 25 36 330 4e e s 20 Bt
Pynnssceke 30 1 1,3 10C3t+bo+/13+I'3 86 0,6 l 26 36 340 4e - - 30 B
PyausHcbke 38 11 0,4 10C3+bn+/13 86 0,65 I 24 28 330 4e - B 45 ‘-
Pyaustcbke 41 6 3.1 8C32bn+/13 65 0,6 I 21 24 230 4e EaS . 45 B
PyaxsaHcbke 44 19 2,5 8C32bn+/13 86 0,6 Il 22 32 250 4e P B 30 “
PyaHstcbke 49 5 2,6 9C31bn+/13+13+0c¢ 66 0,7 1A 25 26 340 4e S P 20 -
Pynnstcbke 54 5 1.4 10C3+bn+/13 76 0,7 I 25 28 380 4e - P 30 -
Pyansincbke 65 28 1,9 10C3 82 0,65 I 25 30 350 4e B - 45 -
PynnsiHceke 65 29 0,6 10C3+/13 82 0,65 i 25 30 330 4e - -5 45 -
Pynusicbke 68 3 4.8 10C3+/13+bn 86 0,68 I 25 30 370 4e = - 45 Bt
PynusHcbke 69 6 0,5 10C3+/13+bn 86 0,6 1 25 30 330 4e = P 45 Pt
PynusiHcbke 69 8 1,1 9C31 [i3+bn 76 0,6 I 25 32 300 4e - - 20 =
Pyauaucbke 69 14 2.1 9C31 i3+bn 66 0,6 1 24 24 280 4e - - 40 B
Pynusucbke 71 5 0.8 10C3+bn 66 0,65 1 22 28 300 4de = - 20 P
PynHnsHcbke 79 1 1,0 10C3+bn 86 0,6 1 24 32 310 4e Fa - 45 .
PyaHsHcbke 82 24 2.8 9C31bn+3 86 0,65 1 27 32 360 4e Eas B 20 B
PyansaHCbke 84 20 35 9C3ibn+/13 66 0,7 1 23 24 300 4e - - 45 -
Pynusucbke 84 21 17,0 6C34bn+Oct+/13 66 0,65 | 23 28 240 4e - < 45 P
PyaHstcbke 86 18 6.4 7C33bn+13 66 0,7 I 23 26 300 4e B B 40 -
Pyansucbke 87 15 4,7 9C316n+143 66 0,7 I 22 24 290 4e B - 40 -
JlHinposcebke 5 1 4,7 10C3 68 0,70 I 22 22 320 4e - - 20 Pt
Jlninposcobke 5 3 11,5 10C3 65 0,80 | 23 26 390 4e - < 20 B
JHinposcbke 5 4 243 10C3 64 0,75 I 24 24 390 4e - = 20 Lt
Jlninposchbke 5 7 45 10C3 81 0,65 1 24 28 340 4e P B 20 -
Juinposebke 6 1 10,3 10C3 65 0,85 | 22 22 390 4e - - 20 B
Jluinposcbke 6 2 2.1 10C3 65 0,75 1 24 24 390 4e - B 20 B
Jlninposcbke 6 4 7.3 10C3 64 0,70 I 23 24 340 4e Bt B 20 .
JlHinpoBcbke 12 2 6,2 10C3 87 0,70 Il 23 28 340 4e - -5 20 -
Hminposcebxe 12 11 1.4 10C3 86 0,60 | 25 32 320 4e - Eat 20 Lt
JIninposcbke 14 9 1.9 10C3+bn+/13 61 0,70 IA 24 28 360 4e - -5 20 B
Jlninposcbke 17 25 1.8 10C3+bn 87 0,50 i 24 36 260 4e - - 20 s
JlninpoBchke 25 17 1,1 10C3 92 0,60 1 27 36 360 4e - - 20 Bt
Jlninposchke 25 18 2,5 10C3 92 0,60 I 26 32 340 4e Bt B 20 B




J‘w’ 1 2 3 4 8 9 10 1 12 13 14 15 16 17 18 19
Juinposebke 25 20 1,2 10C3 91 0.55 I 26 32 310 de canitapue | Biamupanus 20 « 3rijHO
Jninposcebke 25 27 0.5 9C316n 54 0,60 1A 22 26 260 4e pvOanus T8 BCHXAHHS 20 marepianis
JlHinposcsbre 25 30 0.8 10C3 92 0.60 I 26 32 340 4e BHOIpKOBE nepes 20 JCBIIOPAAKYBAHHS
JiHinposeske 26 31 0.9 10C3+bn 91 0.60 1 26 30 340 4e -- - 20 HE BUSRJICHO
JHinposcbke 26 39 0.5 10C3+bn 91 0,60 | 26 32 340 4e - -"- 20 B
JlHinpoBcske 27 26 2.6 9C31 13+bn 76 0,65 1A 27 32 360 4e - - 20 -
Jninposcbke 27 27 1,7 10C3 66 0,65 1A 26 32 370 4e - s 20 ==
JIHinpoBCchKe 29 14 8.0 10C3 53 0,70 I 21 22 300 4e - - 20 -5
JiHinpoBcbke 31 2 6.2 9C31bn 57 0,75 1A 22 24 320 4e - - 20 e
JiHinposcbke 31 3 0.3 10C3+bn 86 0,60 1 26 32 340 4e - - 20 -
Iminposeske 31 6 1.4 9C31bn 66 0,70 1 23 26 320 4e B - 20 -
JHinposcoke 31 9 3,1 10C3+bn+/13 82 0,60 1A 28 36 380 4e B - 20 -
JlHinposceke 32 3 33 10C3+bn 76 0,60 I 24 28 310 4e e - 20 --
JHinposcbke 32 12 4,3 10C3 66 0,70 I 23 24 340 4e e B 20 -
Jlninposcbke 32 15 24 10C3+bn 92 0,65 1§ 25 32 350 4e - & 20 B
Jninposcbke 32 20 0,8 10C3+bn 76 0,70 [ 24 28 360 4e - B 20 --
JIHinpoBchke 33 3 0,7 10C3 86 0,65 1 24 28 330 4de - “ 20 =
JHinposcoke 33 13 5.4 10C3+bn+0c 76 0,70 I 24 28 360 4e E - 20 -
JlHinposcbke 35 20 0.8 10C3 86 0,60 i 27 36 360 4e EE B 20 =
JHinposcoke 35 23 2,6 5C31bn2Bau2l3 91 0,60 1A 30 36 260 4e e - 20 -
Jluinposceike 36 16 0,4 10C3 87 0,50 I 27 30 300 4e Bt s 20 -
Huinposceke 37 27 0,7 10C3+bn 58 0,70 1A 23 26 340 4e - - 20 -
Jlninposebke 40 4 1,0 6C33/131bn 91 0,50 I 27 36 240 4e = B 20 -
Jlninposebke 41 8 1,9 10C3+/]3+Ak6+0c 66 0,60 A 25 32 330 4e Bt Bt 20 Bl
Jlninposebke 43 1 212 10C3 85 0,70 [ 26 28 400 4e =5 P 20 -
Jlninposebke 44 | 6,5 10C3 76 0,65 1 21 24 280 4e s Bt 20 -
JlHinpoBcbke 46 21 38 10C3+bn 54 0,85 I 20 20 340 4e B P 20 -
Jninposceke 50 15 0.8 10C3+13+13 87 0,60 I 28 36 380 4de . B 20 -
JiHinposchke 51 1 0,5 9C31bn+/3 64 0,70 1 23 24 300 4e - B 20 -
Jlninposebke 51 2 0,2 10C3+bn 86 0,30 il 23 28 140 4e Bt - 20 -
JiHinposchke 64 17 32 10C3+/13+Bn 91 0,60 | 27 36 360 4e Bt B 20 -
Jlninposceke 64 21 1,2 6C33bn13+0c 66 0,70 1A 27 36 270 4e - - 20 -
JiHinposcohke 65 20 0.9 10¢3+/13+bn 86 0,60 I 26 32 340 4 B = 20 -
Jnuinposcoke 66 23 1,8 9C31M3+13 58 0,70 1A 24 26 310 4 Bt - 20 -
JlHinposcbke 83 5 13 10C3+bn+Bau 99 0,50 | 28 40 310 4e B B 20 -
Jlhinposcbke 83 11 0,7 10C3 99 0,50 | 29 36 330 e - - 20 ==
Iuinposcbke 83 13 1,9 10C3+bn 69 0,65 I 24 24 330 4e . B 20 R
Jninposcbke 83 28 1,2 10C3+bn 79 0,55 [ 26 32 310 4e - - 20 -
Kam'sicoke 2 24 1,0 10C3+bn 91 0,70 [ 26 32 400 2e - o 40 -
Kam'sHcobke 14 3 0,5 10C3 91 0,70 [ 26 32 400 2e - o 30 -
Kam'aHcbke 18 26 23 8C32bn 66 0,60 1 24 30 280 2e - - 35 -
Kam'sHcbke 46 16 5,9 7032C31ba 110 0,70 1 23 28 340 2e - - 35 -
Kam'sHCbKe 47 1 0,7 8C31's+bn+/3 95 0,70 1A 30 40 450 2e - - 20 -
Kam'sincbke 47 28 04 10C3+/13 76 0,70 IA 28 30 440 2e - e 25 --
Kam'sHcbke 47 30 0,5 8C323 75 0,50 1A 27 32 390 2e - - 40 =
Kam'sHcbke 48 6 2,9 8C31bnlt 13 56 0,80 TA 23 26 360 2e -4 B 35 -




7 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Kam'sncbke 49 10 3,5 - - - 10C3+/13+13+Bnu 86 0.70 A 29 36 460 2e caHitaptie | Biamupauus 30 « 3riAHO
Kam'aHcbke 49 23 1.0 - - - 6C33[31bn+"3 61 0.70 A 24 28 300 2e pyOarus Ta BCUXAHHS 40 Marepianip
Kam'aschie 59 28 4.4 - - - 9C31 13+bn+Oc 69 0.85 1A 27 30 490 2e BHOipkoBe aepes 40 JCBNOPSIKY BAHHS
Kam'sHcbke 60 27 4.1 - - - 10C3+/13+bn g1 0.75 I 27 32 450 2e Eas - 35 HE BUABACHO
Kam'aHCbke 70 12 59 - - - 10C3 45 0.85 1A 20 22 360 2e Bt - 35 -
Kam'sHcbke 72 8 32 - - - 10C3+/13+bn 81 0,70 ! 27 32 420 2e - =7 40 -
Kam'stHcbke 72 30 3.6 - - - 10C3 66 0,75 I 20 26 300 2e -4 -5 40 <.
Kam'aHchie 73 27 0.3 - - - 10C3 61 0.40 A 22 24 180 2e - - 35 -
Kam'sHebke 73 29 10,0 - - - 10C3x 61 0,80 1A 23 26 390 2e Pl Kopenesa rybka 30 B
Kam'sHebke 73 33 0.4 - - - 10C3 60 0,80 | 22 26 370 e - Biamupats 20 -"-
Kam'sHebke 73 39 0,2 - - - 8C32bn 35 0,60 | 14 20 130 2e - Ta BCHXAHH 20 -
Kam'aucobke 74 1 2.5 - - - 10C3+[3+bn 78 0,70 I 27 32 420 2e B nepes 25 B
Kam'aHcbke 74 2 12,5 - - - 10C3+/13+bn 67 0,85 A 26 28 480 2e Pt P 35 -
Kam'siscbke 75 2 24 - - - 10C3+/13 70 0,70 i 25 32 400 2e - = 40 -
Kam'siHcbke 79 8 0,8 - - - 10C3 90 0,70 I 28 36 390 2¢ - - 35 -
KaM'suchke 79 9 32 - - - 10C3+6n+Bny 61 0,75 I 19 24 280 2e Pt R 40 B
Kam'atcbke 79 i2 2.3 - - - 10C3 80 0,75 I 25 30 400 2 - Bt 35 B
Kam'sHcbke 84 6 1.0 - - - 10C3 84 0,70 | 26 32 400 2 Bt = 40 -7
Kam'sHcbke 90 35 50 - - - 10C3+Bn 80 0,70 { 26 32 400 2e P =a 40 -

KaTioxmaHchke 17 9 1.8 - - - 10C3 76 0,60 1 25 32 330 2e Bt Bt 20 Bl

KaTiokaHCcbke 18 8 1.8 - - - 10C3+Bn+/3 86 0,70 1 24 28 360 2e Bt Bt 20 P

KatoxaHcbke 19 2 0.6 - - - 3/1336n3Ba41Ca 112 0,70 11 26 44 270 2e = - 20 -

KatioxaHcbke 19 3 1,5 - - - 9C31bn+/I3 91 0.75 I 28 32 450 2e ute B 20 -

KaTiokaHchke 19 25 10,3 - - - 8C3ibnl /i3 64 0,80 A 25 32 390 2e - -t 20 -

Karioxancbke 20 18 1,7 - - - 5C33bn213+0c 91 0.70 | 29 36 370 2e - -t 22 -

KarioxaHcbke 22 22 5.5 - - - 10C3+bn 714 0,70 i 24 28 360 2e - -t 20 -

KaTioxaHcbke 22 23 2,1 - - - 10C3+bn+/13 86 0,75 1 25 32 400 2e -t - 25 -

KaTttoxancoke 22 24 1.4 - - - 10C3+13+bn 71 0,80 i 18 24 240 2e == Pt 20 -

KaroxaHcbke 22 25 1.4 - - - 10C3+bn+/13 56 0,75 I 21 28 320 2e Pt . 25 -

Kartioxancbke 23 7 3.0 - - - 9C31bn 64 0,60 I 22 28 270 2e - e 20 P

KaTtioxnaHcbke 23 8 3,7 - - - 6C346n+/13 61 0,60 I 22 36 210 2e - s 26 =

KatioxaHebke 23 9 22 - - - 6C34Bbn 61 0,60 1A 24 32 220 2e L B 25 B

KaTioxnancbke 23 10 9,6 - - - 10C3 61 0,80 | 22 24 360 2¢ s - 22 Ees

KattoxaHcbke 24 22 9.3 - - - 10C3+3+bn 61 0,85 I 21 24 370 2e P - 20 =

KartoxmaHcexe 24 23 7.3 - - - 10C3+3+bn 61 0,80 [ 22 28 370 2e Bt e 30 B

KatioxaHcbke 25 27 2,7 - - - 6/134C3+Bbn 111 0,60 i 26 36 310 2e -a Fas 20 B

KatioxaHcbke 25 30 1,3 - - - 10C3+/13+bn 78 0,65 1A 28 32 410 2e - Bt 20 B

KamoxaHncbke 25 31 0,7 - - - 8C32bn 53 0,75 1A 23 28 340 2e = - 20 P

KaTioxaHcbke 25 32 1.4 - - - 10C3 78 0,70 1 27 32 420 2e s - 25 B

KaTioxaHcbke 25 34 1,6 - - - 10C3+{3+bn 78 0,70 IA 28 36 440 2e e P 20 B

KatiokaHcbke 25 35 1,2 - - - 9C31bn+13+0c 56 0,75 1A 23 28 350 2e Ea Bt 20 -t

KaTioxaHCbke 30 7 34,0 - - - 10Cs+3+bn 91 0,75 I 29 32 450 2e - Bt 25 B

KatioxkaHcbke 30 11 7.1 - - - 10C3+3+bn 57 0,80 I 19 24 300 2e - B 20 B

KaTioxmaHchke 30 12 1,3 - - - 10C3+bn+]13 81 0,70 [ 25 28 380 2e = - 25 B

KaTtoxaHchke 31 2 2.3 - - - 10C3+3+bn 86 0,70 I 28 36 440 2e s e 20 P

KaTioxkauchke 31 6 47 - - - 7C326n1 13 71 0,70 I 22 28 280 2e - el 20 -

KaTtoxaHcbke 54 20 39 - - - 10C3+bn+/13 63 0,80 I 23 28 380 . 2e Bt B 20 s

KaTioxkaHcbke 60 15 42 - - - 10C3+/i3+bn 77 0,75 1A 27 32 450 2e B . 20 Eas




T 1 2 3 4 5 6 7 8 9 10 1! 12 13 14 15 16 17 18 19
KaTioxatcbke 60 19 0.4 - - - 10C3+bn 91 0,60 A 30 36 410 2 caHitapHe Biamupanus 25 . 3CLIHO
KartoxaHchke 67 ] 29.0 - - - 10C3+Bbn+/13 64 0,80 [ 24 28 410 2e pyOaHHs Ta BCHXAHHS 20 marepianis
KarmtomaHchbke 70 3 8.3 - - - 9C31 3+bn 66 0.80 1 24 28 400 2e BUOIPKOBE aepes 22 NICBNOPSIAKY BAHHS
KariokaHcoke 70 4 6.7 - - - 9C31bn+13 61 0,80 1 22 28 330 2e - - 25 HE BUSIBJICHO
KaTioxaHchke 70 6 9.6 - - - 9C3lbn+/i3 59 0.85 [ 21 24 340 2e - - 20 Eas
KartoxaHcbke 91 2 28.0 €D 2,5 2,5 10C3 56 0,85 I 23 28 320 2e Cruitona carTapha B 390 -
[LlegyeHkiBecbke 6 24 8.4 - - - 10C3k+bn 51 0,80 1A 22 24 370 2e caHiTapHe { Kopeweea ry6ka 25 -
lleB4eHKIBChKe 8 4 1,2 - - - 10C3 76 0,70 A 27 32 420 2e py6aHHs Biamupanus 30 Eas
llleBueHKIBChKE 8 7 1,5 - - - 9C31/13+bn 91 0,70 [ 27 32 400 2e BUOIpKOBE T4 BCHUXAHHSA 40 -l
[lesuenkiBcbke 8 10 1.1 - - - 10C3+bn 86 0,70 | 27 32 420 2e - nepes 35 -~
LilesuerkiBcbke 8 12 1.0 - - - 8C32/13+bn 73 0,75 1A 27 30 420 2e B e 30 -
[esueHKiBCHKE 12 10 0.8 - - - 8C32 /13t Sne+bn 65 0,70 1A 25 30 340 2e = B 30 -
[Lesuenkiscbke 12 11 0,2 - - - 10C3 65 0.30 1A 26 30 180 2e - . 30 -
[lesuenkiBchbke 12 14 1.8 - - - 5C35/13+Bnu+bn+Oc 86 0,70 A 30 40 400 2e - L 40 B
1lleBueHKiBCbKE 12 15 1,2 - - - 10C3 86 0,70 1A 29 32 460 2e -t =t 35 -
1lleBueHKiBChke 12 16 1.8 - - - 9C31 A3+Bau+bn 76 0,70 1A 29 32 440 2e Pt Bt 30 -
[HepueHkiBCbke 12 17 3,1 - - - 10C3+Bny 81 0,70 1A 28 32 440 2e B Bt 35 s
LileB4yeHkiBChKe 12 19 0,8 - - - 9C31 JI3+bn 86 0,70 1A 29 44 450 2e Bt ) 30 B
JluTBHHIBCHKE 4 9 2.3 - - - 10C3+13+bn 115 0,50 i 29 36 330 2e Bt P 30 -
JiuTBnHiBChKe 7 1 0.8 - - - 10C3+3+bn 111 0,50 1 29 40 330 2e “ Bt 35 <.
JIuTBHHIBCLKE 8 2 150 - - - 10C3k 53 0.80 1 20 22 340 2e B KopeHena ry6ka 23 B
JIuTBHHIBChKE 8 17 5,0 - - - 8C32Bn+/13+0c¢ 70 0,70 1A 26 32 360 2e - BiamupaHus 20 -
JIutBuHiBCbKE 9 18 11 - - - 10C3 80 0.60 A 28 36 380 2e - ra BCUXaHHSA 40 -
JIntyHIBCHKE 9 24 0,5 - - - 8C32/3 121 0,50 [ 30 40 320 2e = nepes 30 .
JIuTBUHIBCbKE 15 31 2.6 - - - 10C3+bn+/13 111 0.55 [ 29 36 360 2e - - 35 =
JluTBUHIBCHKE 21 37 14 - - - 10C3 56 0.80 1A 24 26 410 2e . - 23 =
JIMTBHHIBCHKE 21 40 1.8 - - - 10C3 56 0.80 IA 24 26 410 2e - - 22 -
JIMTBHHIBCBKE 23 6 0,2 - - - 10C3+[13 104 0,50 I 29 36 330 2e Dt P 35 -5
JlutBuHiBCHKE 23 8 1,0 - - - 9C31 A3+bn 100 0,60 [ 28 36 370 2e - - 30 -
JluTBUHIBCHKE 24 5 34 - - - 10C3+bn 86 0,80 [ 28 36 500 2e “ - 22 -
JInTBUHIBCBKE 26 7 1,4 - - - 10C3 80 0,75 1A 28 36 470 2e = - 20 --
JIMTBUHIBCHKE 26 14 2.7 - - - 4C36bn+/13+Bau 38 0,70 1A 17 18 160 2e = - 25 =a
JIUTBUHIBCbKE 28 1l 03 - - - 10C3k 6l 0,30 1 20 22 120 2e - Kopenesa ry6xa 20 =
JluTBUHIBCHKE 29 8 23 - - - 10C3+/13+bn 81 0,80 A 29 32 520 2e B BiamupaHus 40 =
JIuTBUHIBCbKE 29 9 1,4 - - - 9C31Bn+Bay 46 0,80 1A 20 24 300 2e B TA BCUXAHHSA 22 B
JIuTBURHIBCBKE 29 12 1,6 - - - 6C32bn2Bay 56 0,80 1A 24 28 350 2e Bt nepes 20 B¢
JInTBHHIBCbKE 29 13 2,5 - - - 10C3+bn 46 0,80 1A 20 22 320 2¢ “ - 22 -4
JIMTBUHIBCbKE 30 16 6,9 - - - 9C3113+0c+Bbn 86 0,75 1A 29 36 470 2e “ - 35 =5
Jluteuniscbke 30 17 1,2 - - - 8C32Co+/13 61 0,30 1A 23 28 130 2e - - 30 -
JIuTBHMHIBCHKE 32 8 2.9 - - - 10C3 35 0,70 [ i5 20 190 2e Bty -t 20 =
JlutBHHIBCbKE 32 24 2.9 - - - 8C3(85)2C3(60)+ 13 85 0,75 I 27 - 36 420 2e - B 23 “a
JlutBuHiBCHKE 32 25 1,3 - - - 7C3(80)3C3(40)+13 80 0,60 v 14 32 120 2e - - 20 -
JIUTBHHIBCbKE 33 1 2.0 - - - 10C3 44 0,80 A 20 24 320 2e = B 22 B
JINTBHHIBChKE 33 5 25,0 - - - 10C3x 55 0,80 IA 24 26 420 2e £ KopeHepa rySka 25 -




o
= l ! 2 3 4 S 6 7 8 9 10 11 12 13 14 15 i6 17 18 19
JIATBHHIBCHKE 39 8 6,0 - - - 8C31bnlAx6 51 0,70 1A 22 26 290 2e caHitapHe | Biomupanus 24 ' 3rigmo
JIuTBUHIBCHKE 40 24 7,7 - - - 10C3 55 0,80 1A 23 26 390 2e py6aHHst Ta BCHXaHH 23 marepianis
JlHTBUHIBCLKE 41 | 18,0 - - - 9C31bn 46 0,80 1A 20 24 310 2 BUOIpKOBE aepes 20 JIICBITOPSAIKY BAHHSI
JIUTBHHIBChKE 41 13 16,0 - - - 10C3+AK6 61 0,80 | 22 24 370 2e -~ - 23 HE BUABJIEHO
BCBOI'O 9432
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